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Question no.l is compulsory :r:':"i;
,Attempt any three from the rest. ;.j,;,,.
Make any suitable assumption wherever,"ffd1;j.
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Q.s (a) ','Draw'the ciicuitrdtgdlT,ii$iriiilii;ts@r and exprain the working. Derive
,. i the expression for the frequencyliosciltation.(b) exprain the modering of cE BiT in tr,',,p r"trr and hence derive trre expression
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,. Write short not
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o gn an)1THME of the following.

(a) UJT relaxation oscillator. ,

{U Zgner diode as voltage regulator
(c) r,,'Two pbrt:network. : .r.:.-
(d), 

.InpUf 
output,and tiansfer:characteristics of FET
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